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Introductory Lecture

CONTENT OF THE LECTURE
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=  Course content
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1. BRIEF COURSE DESCRIPTION
This course introduces the basic principles of English morphology and syntax from the perspective of generative
linguistics.
It covers the different processes of word formation including affixation and compounding.
The syntax part introduces basic constituent structure as well as some simple syntactic processes illustrating the
working of the transformational component in the grammar.
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2. COURSE CONTENT

MORPHOLOGY
=  Words and word structure
= Derivation
=  Compounding
= [nflection
= Other morphological phenomena
=  Morphophonemics

SYNTAX
= (Categories and structure
= Complement options
= Move
=  Universal Grammar and parametric variation
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3. COURSE OBJECTIVES
By the end of the course, students should be able to:
= |dentify the internal structure of English words.
= Distinguish different types of morphemes: derivation vs. Inflection.
= |dentify the constituent parts of a sentence: words, phrases and clauses.
= Provide a syntactic representation of constituent types on the basis of X’'-theory.
= Provide a syntactic derivation for some common sentence types.
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4. Course Evaluation
Total mark is out of 100
1. 30% of the total mark is assigned to:
v Your participation in the Blackboard Forum.  (10%)
v" Your main three assignments. (10%)
v" Your attendance to live and recorded lectures. (10%)
2. 70% of the total mark is assigned to the FINAL TEST

The final test consists of a set of multiple choice questions with five options to choose from.
The exact date and time of the final test will be announced later.
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5. References
William O'Grady, John Archibald, and Francis Katamba. Contemporary Linguistics: An Introduction. Pearson Education
Limited (2011).

The content of the course is to be found in Chapters 4 and 5.

http://www.amazon.com/Contemporary-Linguistics-William-OGrady/dp/0312555288/ref=sr 1 fkmr0_1?s=books&ie=UTF8&qid= 1423734206&sr=1-1-
fkmrO&keywords=contemporary+linguistics+an+introduction+candle+edition
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Part I : MORPHOLOGY
Lecture 1

INTRODUCTION

Words are important: basic units of language, unlike phonemes and syllables, words carry meaning.

Unlike sentences, which are forgotten soon after we produce them, words are stored in a speaker's mental
dictionary or lexicon. Words are the fundament building blocks of language.

Native speakers of English know thousands of words such as read, language, computer, on, whose meaning
and form cannot be predicted.

However, once they know the meaning of phish (obtain sensitive information via email fraudulently), they can
recognize and construct words such as: phished, phisher, phishing, and unphishable.

Thus, MORPHOLOGY is that component of the grammar which studies the structure of words to account for
the knowledge that native speakers have about their own language.
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Native speakers know how to segment a string of sounds into words when they write, for instance, so then:
What is a word? How can it be defined?
Linguists define the word as the smallest free form in a language. This means that it can occur alone and in
different positions in the sentence as well:
(1) What creatures do children find most fascinating?
Dinosaurs
(2) Paleontologists study dinosaurs
Dinosaurs are studied by paleontologists
* Dinosaur (—s) is extinct. (-s is NOT a free form)
(Gl aay g (U Jian e o) 585K Ladie: S ) ol peal e Alibis 35 328 208K (6 jay Aalll opalaldl)
f T o (S e A
L el 3 Aalite @l se s Laan s 2l 555 o (S 431 iy 138 5 5D 3 a S el Lol e Al () 58y st
e 5 S JUlY) laasy ) B il 4 L (1)
LSl gealinal)
Gyl Al px G sa i S pial) clale (2)
il slale J8 G G g gaalipal
(o 8 ol @ln) L e () gualisal)
MORPHEMES
Like syllables and sentences, words have an internal structure which consists of one or more morphemes.
A Morpheme is the smallest unit of language that carries meaning. For example: Builder is made up of build(
construct) and —er(one who builds). Houses is made up of house(dwelling) and —s(more than one).
One-morpheme word is said to be simple and two or more morpheme words are said to be complex. Ex: hunt,
hunt-er, hunt-er-s.
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FREE and BOUND MORPHEMES

A morpheme can be either free, when it can stand alone, or bound, when it must be attached to another one.
Ex: boy vs. —s

A free morpheme in English can be bound in a different language. Ex: head and *fi (in Athapaskan, an
Amerindian language). In this language, this morpheme is bound, sefi, meaning my head.

Conversely, a bound morpheme in English can be free in other languages. Ex, play-ed vs thaan leew (eat +
past in Thai)

sagiall g 5 all b pal)
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play-ed vs thaan leew (eat + past in Thai) :J%

ALLOMORPHS
Allomorphs are the variant forms of a morpheme.
Example 1: the indefinite article in English has two variants: a when preceding a word that begins with
a consonant ( a book) and an when preceding a word that begins with a vowel ( an orange ).
Example 2: The plural morpheme —s has 3 pronunciations: [s] as in cats, [z] as in dogs, and [3z] as in judges.
Do not confuse spelling changes with allomorphic variation. Ex : e in create and ride is dropped in creat-ive
and rid-ing. On the other hand, there is allomorphy in electric / electric-ity and impress / impression, where
the pronunciation changes but not the spelling. [k] = [s] and [s] = [sh]
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ANALYSING WORD STRUCTURE
To identify the internal structure of words, we need not only to identify the component morphemes but also
to classify them according to their contribution to the meaning and function of the word.

Roots and affixes: Complex words consist of a root morpheme and one or more affixes.
The root is the core of the word that carries the major meaning component. Typically, roots are lexical
categories such as N, V, A, or P. N=Noun, V=Verb, A=Adjective, P=Preposition.
Affixes are NOT lexical and are ALWAYS bound morphemes. For ex, -er in teach-er (V+er =» N) Af=Affix
AWK gy gina b galensy (a5 Lgdiaatl Linyl (15 28 yal) A poall 3paaid L ual Al (s elalSl A2l Al apaas]
SE gl aals Y L) lliae Al j3a 28 jea (e ¢ oS5 A el LIS seiliadlg ) g3ad)
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Below are examples of the internal structure of some words:
: el and ALl Al e Al L L

N A N Vv

/ \ / \ / \ / \
vV Af Af A N Af A Af

I I I I | I I I
Teach er un kind book s black en

AFFIX TYPES: There are 3 types:
1. A prefix is attached to the front of the base. Ex. De-activate, re-play, il-legal
2. A suffix is attached to the end of a base. Ex. Faith-ful, govern-ment, hunt-er
3. Aninfix, which less common, occurs within another morpheme. For example, in Tagalog, (the

language spoken in the Philippines), we find: bili = buy, the past form of which is b-in-ili =
bought.

BEWARE! —ish in boy-ish-ness is NOT an infix.

Ll 48006 clla (galal) Jlad]
De-activate, re-play, il-legal :Je (Al IS 3208 dadiay (3aly Apdad) (3 1
Faith-ful, govern-ment, hunt-er :Jis (iasla¥) A1) sac @) Al Galy 4lgdl) 3aY 2
((Comlall 3 Aol AR1) o gal) 8 (JUall Jass e s 5aT A jan (el a5 cle sud BBl o 35 AddS)) eia GAY 3
b-in-ili & bought & s oWl Lvas ¢ bili D buy 2o
Al jam 3aY Gl boy-ish-ness 4—ish 14)
Arabic, and other Semitic languages, has interesting illustrations of infixing. Roots in Arabic are consonantal.
Various combinations of vowels are added, including in between consonants to mark grammatical contrasts

such as: Kataba = wrote, kutiba = has been written, aktub = | write/am writing. One way of representing
these facts is by assigning vowels to a different tier, level :

il Sl g A dapay A Ay gl 8 s0al) ALK e ) s DU alaia DU 5 e Al Lgpad ¢ (s AY) dpalid) clalll 5 ¢y jall
saal 5 Al yla ST (S (S 18 LS (g satl () aaai] AL Cigpall (pn Glld 8 Ly oS jall 5 Alad) Ca gl (e Ailide S
Adline A (5 gine ) ALl Caal at Gayb e (o @ileal) oda Jiiall

Af

/ \
Kutiba

\ 1/

Root ("write")
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PROBLEM CASES

English morphology is said to be word-based. Consider the following: re-do, treat-ment. Most complex
words are like these two.

Not all languages are like English, Spanish and Japanese; verbal roots are ALWAYS bound and cannot
therefore stand alone. Arabic is also like that.

English also has a number of bound roots such as unkempt (unkempt hair) which does not break into
un+kempt.

Other words such as inept were borrowed into English from Latin ineptus (unsuited). Today, this word
cannot be broken up into * in-ept.

Another class of borrowed words from Latin via French is represented by the following: receive, conceive,
perceive, permit, submit and commit. Each potential division of the word does not have a meaning of its
own. Re- = 'again' but —ceive = ? Consequently, these words cannot be segmented.

Ui ela

O Jie A8 yall Sl abisa ¢ re-do, treat-ment (b e Jlie ) e 335 AalSl) ) il 4 ) A yeal) o Jlay
RN
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un+kempt ) 43323 (S ¥ 3 5 (e s ad) unkempt Jie 384l siall e Tase Lggal Loagl 3, 50laiy) 420

*in- G et (S Y ALK sdaca sl (A ) ineptus AU (e & ulaiy) Aalll 3 gd jladad i jnept Jie s A) DlS
.ept

submit receive, conceive, perceive, permit : 2k L U8 (e {ias 4 @l 3y sl oo LA e 5 jlatiuall CLSH (e 5 AT 408
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Lecture 2
Derivation

INTRODUCTION
Some English derivational affixes
=  Complex derivations
= Constraints on derivation
Two classes of derivational affixes compounding:
= Properties of compounds
= Endocentric and exocentric compounds

dadiall
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Derivation is an affixation process that forms a word with a meaning and/or category distinct from that of its
base. Ex. Sell+er = sell-er, V+er = N, NOT to be confused with tall+er = tall-er, A+er =PA. Here er is
inflectional.

Lol e (p ) Gl e B uaie Al 5 Jra L) AlS S ) Glaily) dlee g (3LELEY)
Ada € darer ¢ tall-er € tall+er (ms 4w LAl aae i ¢ anl € Jedter, sell-er € Sell+er :Je
Ay i 4 er L

Fig. 1 Derivation Inflection
N A
/ \ /\
vV Af A Af
I I | I
Teach er tall er

Once formed, derived words become independent lexical items and receive their own entry in a speaker's
mental dictionary. With time, words acquire new meanings. Ex. Profession means ‘career’ rather than 'the act
of professing'.

(3lieY) J=8)'the act of professing' (= Y (4e=)'career’ i (Ligs)Profession :Jis ua las LS

SOME ENGLISH DERIVATIONAL AFFIXES

Examples of derivational suffixes: fix-able, refus-al, claim-ant, teach-er, shoot-ing, impress-ive,

treat-ment, king-dom, faith-ful, presidet-ial, arab-ian, optimist-ic, hospital-ise, brain-less, poison-ous, tall-ish,
active-ate, black-en, stupid-ity, slow-ly, happi-ness.

A5l dall) B ABELEY) clialal) ey
1 oYL 53 s e ALY ABELE) (gal gl o Al
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COMPLEX DERIVATIONS
Some words require multiple levels of word structure as in Fig. 2 below:
Fig.2: A multilayered internal structure N

/ \
v o\
I\ 0\
AN\
/NN
V Af Af  Af

I I | I
Act ive ate ion

dalaal) CHlBLELEN)
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This word illustrates a multilayered internal structure with the attachment of an affix to an appropriate base.
_'Sicl.ﬂ\ ;u.uh.ﬂ ‘_'éaﬂ,i LS'L".'J & Q&,\H\ ddia g-‘iu GU,! C-Ajﬁ NN IPRYY
COMPETING ANALYSIS
In some cases, the internal structure of a word is ambiguous between two competing analyses.

Ex. Unhappiness Fig. a. N Fig. b. N
/\ /\
A \ / N
/ N\ [/ \
Af A Af Af A Af
| I I | | I
Un happy ness un happy ness

Al O (e Gl G il Tl A0 Ll (YIS Gy
The preferred analysis is the one in (Fig. a). Un_ is more attested as a prefix with adjectives than with nouns.
Ex. unable, unkind, unhurt but not *unknowledge, *unhealth, *uninjury.

CONSTRAINTS ON DERIVATION
Derivation is often subject to special constraints and restrictions.
For example, the suffix —ant can attach to bases of Latin origin such as combat-ant, assist-ant, but not those
of English origin such as *help-ant, *fight-ant.
A derivational affix may attach only to a base with particular phonological properties.
For example, the —en combines with adjectives to create verbs.
Ex. Whiten, soften, madden, quicken, liven, but not *abstracten, *bluen, *greenen, *angryen, *slowen.
This suffix can only combine with a monosyllabic base ending in an obstruent (stop, fricative or affricate).
Gy Jo g ydal) 45l
Jie 48Y Jsaal (e 3 LN 22 8 e Gaal o (S —ant Aledll 3aY Ol 3 gasdl g Lualid) 48l cady L Llle sy
.*help-ant, *fight-ant Jis &; sy 220 Jsal (e add 0S5 « combat-ant, assist-ant
A i g pailaaiy 32006 ) L sl 35 SESY) G
il sl clisall o 2% —en Al 32 5 Slie
*abstracten, *bluen, *greenen, *angryen, *slowen ! (X Whiten, soften, madden, quicken, liven :J%s
sl fricative «stop) obstruent (Asuluy) 4alsll) saclall dgs & adll) adadall dpalal (g 4t peall Jadh o 138 Al 3aY
.(affricate
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TWO CLASSES OF DERIVATIONAL AFFIXES
Class 1:
They trigger changes in the consonant or vowel segment of the base and may affect stress placement. Ex.
ity san-ity [ei] changes to [i], from sane to sanity.
-y democrac-y [t] changes to [s] and stress shifts from 'democrat to de'mocracy
—ive product-ive stress shifts from pr'oduct to pro'ductive.
—ise public-ise shift from [k] to [s] from public to publicise .
Class 2:

a) These tend to be phonologically neutral, not affecting the segmental makeup of the base.
Ex. Prompt-ness, hair-less, hope-ful, quiet-ly, self-ish, defend-er.

b) These usually cannot intervene between the root and a class 1 affix.
Ex. Divis-ive-ness, fear-less-ness, but not *fear-less-ity.

ABELEY) clalal) (e opuiid
sy Al
geall 5y (8 arall alge e i La g (A )l AadSI)sac 8l e Jina adade o) oSl adalie (& ) juad ) a5 o 45l e

b a5 i Jadli cuilg san-ity —ity ' JBe
(o) Sgad Cnval g ) Sgas Lili ciS democracy -y
LHS) g il g e’y Laili i€ product-ive  —ive
bl vl 5 Al Laals cals public-ise  —ise
-4 daa
(s AalY) Baclall kil iy o 55 Y (Lipea salae 585 ol 038 Joai (a
Prompt-ness, hair-less, hope-ful, quiet-ly, self-ish, defend-er :J\«
Y Al 3aY 5 el G Jax o (Say Y sdle o2 (b
*fear-less-ity o+l (N Divis-ive-ness, fear-less-ness :Jlie
COMPOUNDING

Compounding is a process of word formation in English which consists in combining existing words to create
complex words.

s A
Baina ClLalS LATY 5393 gal) LAl ¢ paal) 8 JiaB ) A sl Al 3 SIS JS dlee S Al

The resulting compound may be a Noun or a Verb or an Adjective. Ex. :
il A ol dad sl an) ()5S 8 ) (Sl

(1) N N N N
/ \ / \ / \ / \
N N A N \' N P N
fire engine green house jump suit in- laws
\" \" \" \'
/ \ / \ / \ / \
N V AV vV V P V
spoon feed dry clean break dance drop kick
(2) A A A
/ \ / \ / \
N A A A P A
nation wide deep blue over ripe
L.,SJL"J‘(“.‘.)
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Note that the rightmost word determines the category of the compound. Thus, Greenhouse is a noun
because it ends with the noun house. Spoonfeed is a verb because it ends with the verb feed.
The morpheme that determines the category of the entire word is called HEAD.

Jady i Y Jad s feed-Spoon s .aul si A aul 2 Greenhouse Gl 1388 5 S jall 48 saa (el il AWK G s
.(04)) HEAD LeleSU AN 438 2aas 3l 43 pal) e Sl
Compounds can combine with other words to create even larger compounds. Ex.

1le ST S e BIAT (5 AT S e LS el G el (S

(3) a. N b. N c. N
/ \ [/ \ / \
N N N N N N
/N 0\ /N ] \ /N 0\
dog food box Sunday night concert series v Af N

elect ion date

Notice how compounding interacts with derivation in (3c)
(3€) o8 BLEIY) pe S pall Joliy ol LY

PROPERTIES OF COMPOUNDS

English orthography is not consistent in representing compounds. They can be written as single words, or
separated by a hyphen, or simply separate words.

As for pronunciation, some facts MUST be noted: Adj-Noun compounds are characterized by more
prominence/stress of the first compound: " greenhouse = "a glass enclosed garden" vs. green house 'a
house painted green’, " blackboard = "a chalkboard "vs. black board ( a board painted in black).

Tense and plural markers cannot affect the first element in the compound. Ex. * the player dropped kick the
ball vs the player drop kicked the ball.

QL.\SJA” uailad
CilalS ddabisy o o(=)Ada s A guada 5l Ban) g AalSS (i o Syl pal) Sl B 55 Y A Sulady) AR B oY) ) 6B
.“m..
r Y S el e gaaal) By Jakaallf] 39 ST (et — Alaa)d) LS pa e 1 3lERY iany 5 LEY) (e 2 Y e (3laill dlly Ll
Jilis "5 ) 50" € " blackboard <" »=23Y) (5L ¢ suas J i " green house Jiis "dilie dals 3 430" €= " greenhouse
M5l sl ¢ suan 7 " black board
11 e S all b I il e i of (e Y gl 5 Jil) i
ENDOCENTRIC AND EXOCENTRIC COMPOUNDS
In most cases, a compound denotes a sub-type of the meaning/concept denoted by the head/rightmost
element in the compound.

EXOCENTRIC s ENDOCENTRIC <€ 5
(Sl (B Cpad) ] [l ) Adndl g3 A1 34 0 g0/ Sre (e o= A E S e Ju S e a V) olaas

Ex.:
steamboat =» a boat powered by steam.
airfield = a field where airplanes land.
fire drill = practice in case of fire.
Such compounds are said to be endocentric.
1 Jlia
DAl (e sene B €= steamboat
L yall 4 dases M1 Jisl) €= airfield
Geoall gVl Al & c il € fire drill
.endocentric exe LS ol o2 e (3l
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In a smaller number of cases, the meaning of the compound does not follow from the meaning of its
compounds.
ATLS ya e iy Y S pall e V) e BB s S
Ex.
redhead = a person with red hair.
redneck =» a person, not a neck.
Such compounds are said to be exocentric.
1 Jlia
ol jady jads € redhead
Ad ) sl g cuadl €= redneck
.exocentric —ewe LS jall oda e 3lhy

Exocentric compounds allow the suffixation of —s to irregular plurals, the endocentric ones do NOT.
Ex.

Endocentric:

wisdom teeth, policemen, oak leaves.

Exocentric:

bigfoots (mythical creatures), watchmans (a type of portable TV).

A ~ens ¥ Endocentric LS e OS] dauld je pes s muall —s Al 3a1Y =end Exocentric SLS e

sl
. Endocentric
(LW 31 5)) oak leaves «(ib il s ) policemen «(Jisl s 5 ) wisdom teeth
- Exocentric
(8 AR SR e ¢ 53) watchmans «(3 shal S 513%) bigfoots
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Lecture3
INFLECTION

What is INFLECTION?

It is a change or modification in the form of a word to mark grammatical. For examples, languages contrast
plural and singular nouns by the addition of a plural affix such as —s in English as in book ~ book-s. (The base
form to which an inflectional affix is added is also called a stem.

?d,j}.al“ R La
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INFLECTION IN ENGLISH
With only 8 inflectional affixes, English is not a highly inflected language.
English inflectional affixes:
* Nouns: Plural —s as in books ; Possessive (genitive) —s as in John's book.
= Adjectives: Comparative —er =» the smaller one, Superlative —est =» the smallest one.
= Verbs: 3Person simg. Non-past —s =» He reads well. Prog. —ing=>» He is working.
past tense —ed =» He worked; past participle —en/ed = He has eaten/worked.
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INFLECTION VERSUS DERIVATION
4 criteria are often used to distinguish between inflection and derivation affixes.
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(1) Category change:
Inflection does not change the grammatical category of the meaning of its host.
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Derivational affixes do change the category and meaning of their host.
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(2) Order: A derivational affix (DA) must combine with the base before an inflectional affix (IA); i.e.,
Inflection applies to the output of derivation.
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(3) Productivity:
IAs have few exceptions, comparatively. DAs typically apply to restricted classes of bases. Ex. modernize vs
*new-ise ; legal-ise vs * lawful-ise ; Confine —ment; align-ment; treat-ment; * arrest-ment; * straighten-
ment, etc.

-l (3)
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(4) Semantic transparency :
IAs contribute transparent and consistent meaning to their host.
Ex. books, trees, cats or walked, played, talked, etc.
DAs do not contribute consistent meaning.
Often it is not possible to predict the word's meaning from its parts.
Ex. Actor is someone who acts but a professor is not so who professes. Government can mean institution as in
government's program but it can also mean act of governing as in government by the people.
Ay 86a (4)
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OTHER INFLECTIONAL PHENOMENA

s AY Ly pail) ) ohY)
CASE: It is a change a word's form to mark change in its grammatical function ( subject, direct object, indirect
object, and so on ). English does not mark case on noun, but it does on pronouns; ex, he vs him, he met him vs
* him met he.

A\
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el e 4l ¢ L)
Standard Arabic marks Case on nouns: (nominative, accusative, and genitive )
Akala Omar-u t-tuffaahat-a  fi |-maktab- i
Ate  Omar-nom apple-acc in the-office-gen
'Omar ate the apple in the office. '
(4) dilaall g ccuail) cand)) telawll Ala s aaidl) 4y el 421
Sl & sl e S
AGREEMENT: Occurs when a word is inflected to match certain grammatical properties of another word ( t-
taTaabuq). In English, it is limited to the third person singular of the simple present; ex, He work-s very hard.
8 ¢ plady) Bl A ((8U) 5 AT ARS (e Aiae By g (ailiad ae canliil] 4K G ) dadle pua g Ladie: Cuasy 1AES) gal)
Jas an Jany 4l 1l Japdl jualall (e 2 jaall GIA (addl) e
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PROCESSES RELATED TO INFLECTION

iy il dlaial) cililead)

Internal Change:
A process that substitutes a non-morphemic segment to mark a grammatical contrast.
Ex. sink ~ sank (ablaut); goose ~ geese (umlaut). The change explained historically is as follows:
a. Old English form : /go:s/ d. Loss of the plural suffix / goe:s/
b. Old plural form:  /go:s-i/ e. Other change /ge:s/ then /gi:s/
c. umlaut / gee:s-i/
Note that internal change is NOT infixing. There is no base form {sg}, {sk}. Infixing and internal change show
that morphology is not always concatenative, meaning that affixation does not always apply sequentially.
:s,.ﬁ_a' JAll i)
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Suppletion: it occurs when a morpheme is replaced by another which is extremely different to mark a
grammatical contrast. Ex. Go " ~ went and was ~ were.
Sometimes it is difficult to distinguish between suppletion and Internal Change. Ex. Think ~ thought,
seek ~ sought. Often, it is treated as an extreme form of internal change or as partial suppletion.
Ll okl o dade puda ol Lalad cilids Al g o AL 4 JIadia oy Latis Giany 1dlagiu)
.were ~ was s went ~ Go :Ji«
.sought ~ seek « thought ~ Think :J% A3\ juail) 5 JIaiay) G aadll Gaall e ¢ 5S Ulal
Al JIaiay) o Al el QST e caplaite JSG Ll e Jalag ¢ gl e S
Reduplication: it involves the repetition of the base form or some part of it.

In Tagalog, takbo = run, while tatakbo = will run (partial doubling of the base).
e s gl Bas Bl L& ) < e g gl 4]z )

(32018l 45 3al) Aéelias) will run € tatakbo Wiz run € takbo ¢ S\l 4aL
Tone placement : Tone is used in some languages to mark grammatical contrast. Ex, In Mini-Bili, a language
spoken in the Congo, we find the following contrasts: zi = ate, while zi = will eat.

t AUl bl aas ¢ gas SI 8 Len ¢ IS Al ¢ - e (iU g el bl daail Cilalll amy (8 aadiud bl 13 ) aad
.Zi D will eat i zi = ate

Conversion: Often considered to be a type of derivation, it involves a change in meaning and category. It is
also called zero derivation. Ex., the poor, the rich, the sublime, ( Noun ~ Adjective), up the price ( preposition
~verb ), dirty ( verb to Adj), run (verb ~ noun), butter ( noun ~ to verb).
Conversion in two syllable words is often marked by a shift in stress. Ex., implant (N) ~ im plant,
‘import ~ im’port, ‘present ~ pre’sent.

anl) il R ¢ adl) :d\fm_ém‘g\3)53‘5:334_3\145_Kﬂ\}@d\gﬁ&&j‘;&%u}écé&mww&)ﬁﬁﬁguﬁf& | ald
(2 N~ asl) By (ol ~ Ja) (S ¢(Rina N Jad) freaa ((Jnd ~ a cin) ) g ((dia
gl bty Jaaall 8T 0 jedai Le Glle (padaiall cld Ol 3 Jndl) b

Glendl oy Page 15



Clipping: A process whereby a polysyllabic word is shortened by deleting one or more syllables. Ex., Names,
Ron ~ Ronald, Liz ~ Elisabeth. In casual speech, prof ~ professor, phys-ed ~ physical education. Other forms
are much more widely spread: ad, lab, demo, etc. Recently, we find internet-inspired creations such as blog
(website log of events).
Wiy~ Gy celant) Jla ST ablie Cada (5 yha e adalial) Taaxie AWl jLatial LA (e ol dalee 1 yab
ety e sl s G e S5 a5 Al JSaT | oS ) M b~ e ¢ g g~ g g o oalal) Cuaall 8 Gl 3l ~ 5l
(S1aa 3 &8 gl Javss 45 530) (o Jie i YD (e Bla gise Cle ¥ a3 AV GV (8 0 AT ) ¢ pand
Blends: They are words that are formed by blending non-morphemic parts of two already existing words. Ex.,
brunch = breakfast +lunch, smoke = smoke + smog, infomercial = information +commercial, ginormous =
gigantic + enormous, bit = binary digit, modem = modulator + demodulator, etc.
1 0B dailly Ol (ialS o A puall i ¢15aY1 &z 50 G 0 IS5 I LS (a1 5l
LAY A e ahaie DAL e Lea e g oSy 3 AIS (e adae J 5 =S
Backformation: Creates a new word by removing part of an existing word. Ex., Resurrection = resurrect,

donation = donate, enthusiasm = enthuse, etc. Ex of new recent such creations are: liaison = liaise,
allegation = allegate, administration = administrate, aggression = aggress.

11 10 Al AdlS (e e Ja Al ) (Ba ke (o Baiaa AlS i 1 AL Jidal)

Acronyms: They are formed by keeping the initial letters of some or all the words in a phrase and pronouncing
them as ONE word. Ex., UNICEF = United Nations International Children's Emergency Fund, NATO = North
Atlantic Treaty Organisation, etc.

11 dbie 3aal 5 AlSS agibai o5 jladl 8 LS JS 51 (amy e (Y1 Gl e Blaall 55k e | 510 1) paidal)

Word coinage: Common for names of products. Ex., Kodak, Teflon.
O (S i clatiall sland wiLS 1B AalS

MORPHOPHONEMICS
A pual) clangll igeall us sl

Morphemes and their allomorphs

Is every morpheme pronounced the same in all contexts? The answer is NO. Many morphemes have two or
more pronunciations, called allomorphs. The choice between them is determined by the phonological
context.

4 pal) gl e g il pual)
eond 3l 435k e ST gl (i sl Ll il peall (e el Y Glsal) Sl paen (8 ARy phal) (udiy (3l A pa JS A
Aol Gl Gioh e Laghy HLEAY) pant ol 4 e & e
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Examples 1 : The plural in English
How is the plural morpheme in English formed?
Answer, by adding -s to the singular form. Consider: cats, dogs, horses. As is well known, English spelling
does not reflect pronunciation.
This suffix has three allomorphs: [s] as in cats, lamps, [z] as in dogs, days, and [iz] or [az] as in horses or
judges. The pronunciation is predictable on the basis of the phonological context :
= Sibilants ( hissing sounds) such as horse, rose, bush, church, judge, call for [iz]
= Otherwise, when preceded by a voiceless consonant, [s] is used as in cat, rock, cup.
= Otherwise, when preceded by a voiced consonant, [z] is used as in dogs, days, birds.
A alady) A 8 aaad) 1Y) Sl
i Y] Al b 2 peally el S (S
Sy Y A 5l AL oY) Tas Cag e 4 WS cats, dogs, horses (lie ) g 33 0yl €l —g dilaly el gal)
LGkl
el dogs & WS [J] [Z]oaeY lamps oS cats 8 WS [u] [S] 1A e ) picia GG AT ) Al gAY
Jala judges «Jwu horses & WS [J] [9z] [iz]s <22 days
i geal) Gl (ulal o Ay 3l (Say (3l
[iz] ik horse, rose, bush, church, judge Jis (<) sa¥) dsgun) yiall il gy
.cat, rock, cup 9 LS a3 [s] A Gigea ¥ (S LA Al Ladie @) DA m
.dogs, days, birds & WS 2333 [7] ¢ ) 51 OSba i sy Ladie @D DA w

Example 2: How is the past morpheme -ed realized phonologically? [t], [ad], and [id] or [ad]

Is Allomorphy a matter of phonological conditioning only?

Yes, as in the cases above, but NO for others.

Consider the word lie. It ends in a vowel, a voiced sound and therefore forms its plural lies with [z]. However,
if we replace [z] with [s], we get an actual word lice, the plural of louse.

Grammar also accounts for allomorphy in English.
Consider cliff and laugh. Both form their plural with [s], cliffs and laughs, but wife and loaf do not, *wifes,
*loafs are ill-formed. Their plural is wives and loaves.
Similar words that change their voiceless consonants f, s, th to voiced counterparts v, z, dh are : knife ~ knives,
life ~ lives, path ~ paths.
Notice that the change is restricted to the plural morpheme: "my wife's car" does NOT undergo any change.
[od] s [id] <[ad] <[t] L5 sea —ed (snlall & pm &l 1) a3y oS 1 AN Jal)
ladh A gom s Al 308 yoall @) juaiall Ja
AT VALY Sl edled s ) sShall VAl b LeS cans
2] = lies el JSiy UL 5 (5 ) ) Gisas dle (o g fje 4alS e Y) ey 32
Jouse (s gl clice Falad A e Juasi ([s] ae [2] Whagia) 13) celld aag
et AR A gl il s L 20 il
Lsli *wifes, *loafs < Oliloaf swife oS < laughs s cliffs <[] a= Lras Aona JSIT LSS Jaugh s cliff JLieY) (o 33
Jdoaves swives lgran (597
< knives ~ knife :» dh ¢z < v s gl Wl N th s ¢ f Adisa il aSLAl Gag all s ) dgiline cilalS
.paths ~ path ¢ lives ~ life
sl oY aady ¥ "my wife's car” iaeas)) 4 pa Slo paily yuadll o) LaaY
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Lecture 4
MORPHOLOGY PRACTICE

EXERCISE 1: Circle the correct answer in the following multiple choice questions:

1. Morphology is the level of grammar concerned with the ...............
a. Structure of words
b. Stricture of words
c. Status of words
d. Structure of worlds

2. The association between most words and their meanings is purely ..............
a. Controversial
b. Conditional
c. Central
d. Conventional

3. When we derive one word from another, we ..................
a. Change its class, for example, from Verb to Noun
b. Change its tense, for example, from Past to Present
c. Both of the above
d. None of the above

4. Roots are ..............
a. NOT always free
b. Always free
c. Both of the above
d. None of the above

5. A compound is a word that contains ...............
a. One prefix and one word
b. One suffix and one word
c. Two root morphemes and one word
d. Two free standing forms

6. cerreerreenneenne is a morpheme that makes the most significant contribution to a word's meaning.
a. The phoneme
b. The derivational morpheme
c. The inflectional morpheme
d. The root

7. e, is some kind of resemblance between the sound of a word and what it denotes/means.
a. ldiom
b. Proverbs
c. Onomatopoeia
d. None of the above

8. Suppletion occurs when a word is represented by two or more .................. roots.
a. Different
b. Similar
c.Bothaandb
d. None of the above
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9. Choose the group of words that result from derivation
a. Cry, cries, cried, crying
b. Kind, unkind, kindness, kindly
c. Tooth, teeth
d. None of the above

EXERCISE 2: Divide the following words into morphemes and morphs.
Examples: (i) truth morphemes: {true} {th}
(i) barefoot morphemes: {bare} {foot}
(1)
a. research {re} {search}
b. butterfly {butter} {fly}
c. holiday {holi} {day}

d. morpheme {morph} {eme}
e. phonology hono} {lo

EXERCISE 3: Some words in (2) contain suffixes. Identify the suffixes by circling them.
(2)

a. happiness

b. freedom

c. flowers

e. brother

e. blackboard

EXECISE 3: Some words in (3) contain prefixes. Identify the prefixes by circling them.
(3)

a. unable

b. discourage

c. establish

d. receive

e. strawberry

EXERCISE 4: For each word below, indicate whether the word is morphologically simple (S) or complex (C), or
includes an inflectional affix (IA), or includes a derivational affix (DA) by circling the relevant answer. S =>
simple, C=>Complex, IA => infl. Affix, DA=> Deriv. Aff.

a. rider S C IA DA
b. colder S C IA DA
c. silver S C IA DA
d. lens S C 1A DA
e. legs S C 1A DA

EXERCISE 5: (i) Identify the root in the words below by underlining it; (ii) State the syntactic
category it belongs to. Example: friendly: friend (Noun)

. lamps lamp (Noun)
. kindness kind (Adjective)

a
b
c. hinted hint (Noun)
d
e

. players pray (Verb)

. grandfathers grandfather (Noun)
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Part Il : SYNTAX
The Analysis of Sentence Structure

Lecture 5

What is GRAMMAR?
It is a theory of language which attempts to characterize the structure of language.
All languages have a grammar:
= All grammars are equal because ALL languages are acquired unconsciously by all children and at an
early age. Indeed, a child is capable of learning any language. In other words, humans are endowed
with a Language Faculty, an initial and universal program, that enables them to acquire any language.
= All grammars are alike in basic ways = UNIVERSAL GRAMMAR.
= A grammar is the characterization of the tacit TACIT/IMPLICIT/UNCONSCIOUS knowledge that native
speakers have of their own language.

fayally saillacld o la
ARl Ay Clua g Jglad A1 dadl) 4y s L)
.\9\3& Ll ciladl) &I.AA
dskl\cs\)l\‘sa )Suwsﬁjdtskwcuadﬁwscjujq@mﬁ?ug_\hﬂ\cu;u\JMJLmu)ml\J}u&\ PP IVEN
Aad (g Qi€ (e peiSar (53 alle 5 (S grali o sa s Aall) ALE 8 (g ge ) (8 (s AT 8 lny Asd (gl alad e a8
Al 201 g8 € Apld (3 Ao Jlo el ) el B pen @
Aalall agial 8 cpalalill ool 31 48 jaall o5 (198 [ Al [ hasd Jian Caua i a dalll )@ m
The Organization of the Transformation Generative Grammar
A Grammar in this sense is essentially an INPUT/OUTPUT system. It consists of:
+» LEXICON: a mental dictionary (information on words: pronunciation, form, and meaning).
«» COMPUTATIONAL SYSTEM: operations that combine and arrange words in particular ways. Two main
modes of operation/structure building: MERGE and MOVE.
Merge is operated on the basis of information from the Lexicon and a theory of phrase structure
known as “X” theory.
As for Move, it is the operation of displacing elements around in a structure.

b pall 5 saill ac ) 681 Al 6l J gaill dalaia
roe il sa g ZIAYIJENY) Al Lulul g8 ieall 138 3 G pually saill ac) @
_(@:.A\} ¢ JGE 5 ahall S e Q\.A)L_A) ‘_;s.c a8 taama o
(A g el 1 JSuel) eliyfAnland Cpan ) (paca s Adima (3 kay lalSN (g aaad ) Cllaall 1 abees aUBS o
X Ay s B g el L) IS AR 5 el g el el e Ll o geadl)
Al A pealiall Jin b Aliciall dlenl) gd ¢RI Lplly L

CATEGORIES AND STRUCTURE

Words can be grouped into a small number of classes called syntactic categories.

This classification is based on their meaning, type affixes they associated with and the structures in which
they occur.

il cadl
Ayl alid _as skl e Juli dae ) calalSl) Cavieat (S
L aaad L1 JSLgll s Lma dadt i 3 liad) g gi ¢ alina e aioatl 134 aitas g
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CATEGORIES OF WORDS
Categories of words are classified as either LEXICAL or FUNCTIONAL.
¢ The Lexical categories are Nouns(N), Verbs(V), Adjectives(A), Prepositions(P) and Adverbs(Adv).
Ex. N: John, Ali, courage, book; \I: come, go, discuss; A: good, bad, tall,
Adv: badly, quickly, hard.
% The Functional categories are Determiners(DET), Degree Words(DEG), Auxiliary Verbs(AUX),
Conjuctions(CONJ), etc. Ex. DET: g, the, this; DEG: too, so, very, more, quite; AUX(Modal): will,
would, could; AUX(non-Modal): be, have; CONJ: and, or, but.

Gl s
il g o draama Lo L) (e i Caieas
11 Jie L (Adv)JIsals (P)ua disss (A)clba (V)] (N)slamd oo dapaal) Uil o
11 Jle | (CONJ)OIBY) cilalS ((AUX)8luaa Juadi «(DEG)ebalsl) Aoy ¢(DET)ldina o dyida gl lidl) o
One Source of confusion is that one word can belong to more than one category. Ex. Near and Comb.
1. The boy stood near(P) the fence. 4. The woman found a comb(N).
2. The runners neared(V) the finish line. 5. The boy should comb(V) his hair.

3. The end is nearer(Adv) than you think.
sanl g s e ST ) o o oS sas) 5 Al G ga Q) e asl g e

o LS Jas 5 ol oSy s Al Aleall 3 LS JadS 6 ) Sy o IV Aeall 3 LS ja dipas 6 G S Near 4 ;s
Fesalall dlaadl 8 LS JadS A Gl Sy s ) ) Alaad) LS anlS A6 O (S Comb 4alS 5 230 dleall

How can we determine a word’s category?
By considering its meaning, its inflections, and its distribution.

¢ dals 48 aaad Uikay i

MEANING:
- Nouns name or denote entities; Ex. people (Ali, John) and things (book, desk).
- Verbs denote actions (run, jump), sensations (feel, hurt), and states (be, remain).
- Adjectives designate a property or an attribute of the entities denoted by the noun, as in tall
building, tall man.
- Adverbs designate properties and attributes for actions, sensations and states denoted by verbs.
Ex. Manner Janet left quickly. Janet left early.

(e el LY g (O o) LaladY) Qe Gl e 05 ) e slandl) -
(e ) JsaY) (ol e ) ) (U cas) Jud) e Jx JadY) -
sk o echish i b LS can Aasd s Sl SULSH o s 5l Bpald s sl
Jad) e A Jall s Gead a5 (Jladdl Ciles g duald cpad Jlgal) -

Janet left early. Janet left quickly. L glead) » JGa

However, meaning cannot always determine a word’s category.

Words such as difficulty, truth, likehood; do not refer to entities in the strict sense. Similarly a noun such as
push may denote an action in “give someone a push”. Further problems arise with different categories having
the same meaning such as like(V) and fond(A) Mice like/are fond of cheese.

(PUSH) < aed Jiddlys 38l imally LS LN 088 Y i ¢ g Jio el 2K 45 Laila samy o (S Y el ¢ lld ae

(A) aras (V) g Jie nal) (il Lgd ddlida clid oo Lis 5 al JSLie "give someone a push" &8 desdl 13 e Ji 8
Ol dajia /[ cuad Gl il
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INFLECTION:
- Nouns are inflect for plural -s and possessive -‘s ; Ex. books, John’s.

- Verbs inflect past tense -ed, progressive -ing and 3d singular -s ; Ex. Arrived, arriving, arrives.
- Adjectives inflect for the comparative -er and superlative -est ; taller, tallest, faster, fastest.
However, even infection fails to provide a word’s category in some cases such as: *intelligenter, *beautifulest.
Also some nouns cannot be used in the plural such as: *moistures, *braveries, *knowledges.
py el
John’s « books :Jtis -*s Sllaill 5 -5 peall (i yuai planl) -
arrives « arriving ¢ Arrived :J%e - G 2 jid) 5 -ing adilli-ed (omlall Jadll Co i JladY) -
fastest « faster « tallest « taller :J% -est Juadlll dapa 5 -er 4 jliall drpal (o pai cliall -
Fintelligenter, *beautifulest :Jis YW (any 8 AU 258 clac) 3 Jddy copatl) S el aa
*moistures, *braveries, *knowledges :Jie gaall 8 aaaini o) (Say ¥ elanl) (any Liaf
DISTRIBUTION:

A more reliable criterion for determining a category type involves its distribution, meaning what
elements (especially functional categories it can co-occur with). For example, Nouns appear with DET, Verbs
with an AUX, Adjectives with DEG; Ex. A car, the book ; has gone, will saty ; very rich, too big. Of course, we
can also predict that the following combinations are not possible: *the destroy(V+DET),

*very arrive(DEG+V), *will destruction(AUX+N).

i)

_(L@Mwuss‘;i&s@g\w}ngwuu) ralinll & Lo Jiay 138 5 lgdinal e g@ﬁgﬁghﬂi\_ﬁ;yﬁ? Dbzl
Al A 0 ae cliiall g Basluall JladY) aa JadY) g (DET ldtaall ga plamd) jelai celld e JUia

very rich, too big ¢ has gone, will saty ¢ A car, the book :J%«

Aian Cand U Cile sanal) () Lyl sl LiSay ¥ caadally

*will destruction(AUX+N) ¢« *very arrive(DEG+V) ¢« *the destroy(V+DET)

PHRASE STRUCTURE

Sentences are simply formed by juxtaposing words like beads on a necklace. Rather, they are a hierarchical
design/structure in which words are grouped into larger units called phrases. In a sentence like: The doctor
examined the patient. The words the and doctor form a noun phrase(NP) and the words examined and the
patient form another verb phrase(VP). [the + doctor], [arrived + quickly].

The traditional syntactic analysis the doctor is the Subject and arrived quickly is the Predicate.

Bkl Ay
) Sl aan 2 Cum Al /aanaill dra B g @l (e Yoy 3038 e Al Jie cilalSl) daal 9331 By sl e ddabiy Jaad) JSaT
(NP) 4aessl 5 ,le US55 doctor s the <)l The doctor examined the patient :Jie lex & &l lall o 58T Cilas
[the + doctor],.[arrived + quickly]..(VP) 4:ixé s a1 5 e JSiS the patient s examined << 5
42 Js2idll 54 arrived quickly & ss5<l) 52 the doctor 2 (5 =il Jilaill
X’ SCHEMA
A phrase can be broken down to 3 parts: a HEAD, a SPECIFIER(SPEC), and a COMPLEMENT(COMP).
Arranged as in the schema below:

XP
/ \
Fig. 1; X’ Schema SPEC X’
/ \
X comp
HEAD

X’ halaia
COMPLEMENT(COMP) JaSall ¢ SPECIFIER(SPEC) 33aall ¢ HEAD il o) 3ol 3 () Leausi (Say 3 jlunl)
1 oSl hbadl LS ci 5
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The schema above captures the following generalizations:
1. All phrases have a tree-level structure (X, X’, XP).
2. All phrases contain a HEAD, X.
3. If there is a COMPLEMENT, it is attached at the intermediate X’ level, as a sister of the HEAD.
4. |If there is a SPECIFIER, it is attached at the XP, as a sister of X'.

A4 dalad) &) jlaad) JaBily  galuad) Jadadialf

(XP « X'¢ X) by gasal) 8 ol (3o Aoy Lol < jlal) aen

X <HEAD (i e s 5iad &l jlall aen

HEAD ()l 48838 ¢ X (5 gisa (Ao Jasuu gl S yals Jua g3 « COMPLEMENT e llia o)\ 13)
X' 48858 XP = Jua s « SPECIFIER 223 cllia IS 13)

Rwiv=
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Lecture 6

HEADS
The head is the obligatory nucleus around which a phrase is built. X in the schema above can be N, V, A, or
P. A head can form a phrase just by itself.
Fig. 2: Phrases consisting just of a head

NP VP AP PP
| | I I
N’ Vv’ A’ P’
| | I I
He likes books all animals eat she is certain he went in
il
sobe IS of (S G s Ga Sl i cJad el 05K O (S el Laladdll 3 X5l Ledsa 5 Agal ) B 68 a (el
Laas ol

SPECIFIERS
The type of Spec in a phrase depends on the category of the Head. Det serves as Spec of Ns, preverbal adverbs
serve as Spec of Vs and Deg as spec of As.

- Det = Spec of N; eg: a, those, my, no, etc.

- Adv = Spec of V; eg: never, perhaps, often, always.

- Deg = Spec of A; eg: very, quite, so

- Deg = Spec of P; eg: almost

Syntactically, Spec mark the boundary of a phrase. In English, they occupy the leftmost position in a phrase.
Semantically, Spec make the meaning of the head more precise.

NP VP AP PP
/ \ / \ / \ / \
Det N’ Adv V’ Deg A’ Deg P’
| | I I I | I I
the books never overat quite certain almost in

Adaal)
a5 Jledd dase Abiay JLadY) U 6 3 1 sa) ¢ elandl aaeS Det colaaaal axdy (f ) 258 e iy 5 jlall 3 22all ¢ 5
Olaall aa s Deg ALK

a, those, my, no :Jis ¢ au¥) 2aas €@ Gldaaal) -

never, perhaps, often, always :Jis ¢ J2dll sa. € JIsa¥) -

very, quite, so :Jli ¢ dual) 2aas €@ SlalSh A 0 -

almost :Jtie ¢ all dija doae € clalSl) da 0 -

okl 8 ) il o e Jind L) ey laty) dalll 5 Jaall 3 5m 2amy daadl 1..3;.
A8 S Gl ) e Jaay daaall by gad
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COMPLEMENTS
Consider the following more complex phrases:

a. [a picture of the ocean] - NP b. [never trust a rumour] -
c. [quite certain about Mary] - AP d. [almost in the house] - PP

In addition to the Specifiers and the underlined heads, these examples contain COMPLEMENTS. These are
phrases which complete the meaning of the heads. Complements are semantically selected by their heads.
Syntactically, they are sisters of the selecting head. The 4 examples above conform and illustrate the X’-
schema given above. Ex (a) is given below. (Try to draw a tree diagram for the others.)

NP
/ \
DET N’
| /\
| N PP
a picture of the ocean
EDlasal)
Al Tagas Y ) jlall liie W) e AW
Llad §jle - [ Aadliy ol Y] .o Lo Blee - [Lunal) (pabyga |
Bosoaa Bk - [ Jikal) ALy o dda b e - [ gbte o Lalad aslia ] o

SRR g sla )l e a4l Jall 8 o3 CBlaSa (g gins Abial o3a cdad Lgiad Al Gyl s sl ) AiLaYL
(1) e ool Saall "X Jaladie menim g5 g (3 ohe | Aoy ;Y1 LYY | lasd) (ul ) il gaT & dgad Lewssy U (e Lgid LA
(.o AY A 5 yaill Laladia aus ) Jslad) eliaf a5
THE MERGE OPERATION
We can formulate the following operation for sentence building:
MERGE: Combine words in a manner compatible with the X’ schema.
The merger operation follows a mode of application which is bottom up and right to left.

) Lles
Alas Ll LU Alaall de Lpa WiSay
! XJ\L&@%\}L@)L;QLJSJ\ O aaal) ;@a.ﬁ\
Dbl Gpall s e DU JaY) (e a3 il A i plaxiy) dolee
SENTENCES
The largest unit of syntactic analysis is the sentence. Typically, sentences are made up of an NP (the subject)
and a VP ( the Predicate). These two phrases are grouped together by Inflection. | ( for short) is the syntactic
head of a sentence. It stands for the Tense element of the sentence. On the other hand, because of its central
role in determining the meaning of a sentence, the verb is said to be the semantic head of S. A simple
sentence structure is provided below:

IP
/ 0\
NP I
| / \
| I VP
| +Past |
Mary laughed ( Notice that the verb’s ending and the tense feature do match)

Jaal
buau.u\‘)l_ud\t\me.u (Md)ﬂd\)dﬂa‘)\_\c‘j(&}m‘}n)M\o‘)ﬁcUAU‘}S.UJA;}\ ¢dale M‘@&j&.ﬂ\dﬂ;ﬂhbh})ﬁ‘
\A)qu_umcd_):.\mbw Md&d\dm)\ax;d.mﬂ.y\ Mdﬂ‘w\j‘@()m‘ﬁb)l L.IA)A.J\@.}_).}:UQ
1sle VU atie Aleall Toey oLy Alaall VAN (Gl 0 5o Gadl) o) Q6 clleall ine 30s3 & o
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= Advantage of this abstract analysis is that sentences have the same internal structure as phrases.
= Asa head, | is obligatory and this accounts for sentences being necessarily tensed.

= |jis a natural locus ( position) for Modals, i.e. In between the subject and the VP.

= Reduces the burden of language acquisition.

el A1 Al i Ll el (s (g ptal) Qs T3 3 syl m
Jadll gt Lain () Jaall Jiag 1385 o 5ka | el a8 m
Aladl) 5Ll 5 & gam gl G Lo (B (s a8l (as0) ansh (Sl 58|
Al LSl e (e JI8y  m
TESTS FOR PHRASE STRUCTURE
Words are grouped into constituents. However, how can we sure of the correctness of a particular
grouping. There are syntactic tests to confirm constituent structure. These are:

Aaal) i) @ o
aliad) Ay Al A g et Al e aen Aaa (e ST LSy (S (S «lld sy Dpuld jualic ) qwsx\@@fzﬂ
(ot e AsuluY)

¢ The Substitution Test
Replacement of the entire constituent by ONE word such as they, it, there, do so. In the example
below, THEY replaces the NP children and DO SO replaces the VP stop at the corner .
[The children] will [stop at the corner] if they see us do so
The PP at the corner can also be replaced by one word namely THERE.
They will stop there if they see us do so.

BN A 2T o

Lpan¥3 Jlad) Jae s 20 ¢ U JUll & Jodi o ib 98 ¢ a0 ¢ Jin Baa) g AalSy JalSIL Y] peaiall Jlagil
gl i (58 3hadl 5 Junl) (aa O3 el fad 5 JLBS)

WA Jads Gl ) 1) [Dg ) e (4 pd8] b gan [JLiBY ]
(b a5 5an) 5 RSy gl i) e B g sl B lad) Jlagi) Lol S

) WIS o Uil 13) LB 58y o gas aa

% The Movement Test
The PP at the corner can be shown to be a constituent by moving it all to a different position in the
sentence. = Movement test

They stopped [at the corner] =» AT THE CORNER, they stopped. But not * at the, they stopped corner
Al 4
Al s LS Ll 335k (e il aaie Wil e jedai o (e 4y 3 die 55 yaall 5 Lall
e sl iy as € Aleal) b
Ayl 158 5 cie® Gl oS0y Vsl Ll e € [dsl ) ] Vs 5
+* The Coordination Test
A group of words forms a constituent if it can be joined to another group of words by a coordinating
conjunction such and, or, but.
The children [went to the playground] and [stayed there all day] (The coordinated structure is VP).
Gaelll) 403 o
Jie Calae Caya 35k (e SlalSI e 5 AT e senn e lgran Sl o Ll pualiall aal JS5 ) S (e A sane
_dﬂcj/‘cj
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Lecture 7
PRACTICE EXERCISES
Gkl
EXERCISE 1: Some of the sentences below are ungrammatical. Can you figure out what makes them
ungrammatical ?

(1)
a. The instructor told the students to study.
b. * The instructor suggested the student to study.
c. The customer asked for a hot chocolate.
d. * the customer requested for a hot chocolate.

(2)

The pilot landed the plane.
The plane landed A journalist.
A journalist wrote the article.
* The article wrote.

Jerome is tired of her job.

f. * Jerome is satisfied of her job.

® oo oo

EXERCISE 2: Indicate the category of each word in the following sentences:
a. The glass broke.

These tall trees are blocking the road.

The peaches never appear quite ripe.

I will see you when | finish.

| don’t like that.

f. Some students always complain.

oo

EXERCISE 3: Each of the following phrases consists of a Spec and a Head. Build a tree for each one
complying with the X’-schema.

The zoo

This house

so witty

Quite cheap

always try

never surrender

Less bleak

very competent

SR "0 Q0T

EXERCISE 4: Each of the following phrases consists of a Head and a Complement. Build a tree structure for
each one of them following the X’-schema.
a. Into the zoo
Full of mistakes
Fixed the telephone
study this material
Arguments about the elections
Success of the program

=poogT
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Full Trees
. NI

N'

%1’1’

[

ff ],l

/\ NP
Det N P Det N
|

the books about the war

c. Pe
PI
NP

At

Deg P Det N

almost in the house

AP
PP
P
NP
L
A r LI

quite certain about Mary

Figure 1 Other phrases consisting of a specifier, a head, and a complement

a. VP
v
NP
N
A

eat a hamburger

PP

I

™~

[
/ /\N
" N
I I

P Det
|

in the house

Figure 2 Phrases consisting of a head and a complement

L”;JLA’J\ a0
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r

NI
N

! ! I
f
[ /\ |
V Det N P Det N
|

put the book on the shelf

Figure 3 A verb with two complements

1P
/ r
NI VP
N ‘1’"
Det N -Pst Vv P
| | | |
the coach knows C
T
{l, II'}
I
/ 7
NJ !
/ K
/]
a’l N'
/o 1
/ [
C Det N -Pst
| [ |
that the team will
whether
if

Figure 4 The structure of a sentence with an embedded CP?

VP
|
V'
[
v

[

win

ggau:d\ a0
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FIGURE 5: The structure of a simple sentence:

IP
/[ \

NP ’

| /\

| | VP

| [+PAST] |

I v’

| / \

N V NP
JOHN ATE THE APPLE

NOTE:
=  The SYNTACTIC head of I is the abstract morpheme [+PAST]. As a tense morpheme, it must be
associated with a verb, hence the complement status of VP.
=  The SEMANTIC head of the sentence is the verb EAT. It is the verb that selects a subject that can
indeed perform the action of eating and the Object Apple, which can be eaten. Indeed, a sentence such
as : The tree ate the sea perfectly grammatical but it is SEMANTICALLY anomalous, to say the least.

EXERCISE 5

Instructions: Use at least two tests to show the constituent status of the following bracketed strings:
1. We ate our lunch [near the river bank]
2. The [computer was very ] expensive
3. John loves [ peanut butter and bacon sandwiches ]

EXERCISE 6
Instructions: Provide a syntactic representation for the following NPs. Justify the Complement or Modifier
status of each of the NP- internal. Justify the Complement or Modifier status of each of the NP- internal.
1. A specialist in fibre optics from Paris
2. The girl on stage in jeans
3. The failure of the program in recent years

sleall o) Page 30



Lecture 8
COMPLEMENTS <3lasal)

COMPLEMENTS
= Complements are obligatory constituents that are selected by a given head. This head can be a Verb,
Noun, an Adjective, or a Preposition.
= Complement selection is both semantic and syntactic. When it is syntactic, it is termed
SUBCATEGORIZATION. Such information is encoded in the form of lexical entries / subcategorization
frames that include phonological, semantic and syntactic properties of lexical heads as in (1):

G gl ddia el (Jad 5SSy el 11 138 cpma (il 0B (e W LR o Al ) ] pualie A LSl m
d&a‘;c&_iu‘,u\b&):m‘)ﬂeﬁgfﬂﬁw\m&@cgpuéum é};ﬁdj‘*ﬁf}&‘f.\ﬁd@\)@i\ n

DEVOUR: Cat V
/divaua/
‘EAT HUNGRILY’
[______NP]
[+ edible]

We thus predict the contrast in (2) in which 2a does not include the NP direct object of the verb:
a. The boy devoured the sandwich
b.* The boy devoured.
Aan¥) 8 ladly dadll g juall 43 J srdall Gy ¥ 23 Cua (2) (B bl @55 Sl
Bkl agdll Al g
PV | RN B o
1. Complements options for the verb
As a verb can take more than one complement, our XP rule needs to be revised as in (3):

Jadll dlagall @ LAY 1
(3) & LS dxal e ) zling XP 58 13) e JaSa o ST Jliag of S Jadll ) Ly

XP = (SPEC) X’
X' > X° (COMPL¥)

a. The librarian put [the book] [on the table]
b. * The librarian put on the table
c. * The librarian put the book
[ Akl e ][ sl ] Al Al cmuns g
gl Ao Au€a) il ciecay b
QUSH 48 Cmg C
By rules (3 and 4, above), (5a) has the following structure:

P____
/1 \
NP | VP
The Librarian | |
vi____
I \ \
Ve NP PP

Put the book on the table
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Some more examples of verb complements

COMPLEMENT OPTION
Jasal) Al

(0]

NP

AP

PP

NP NP

NP PP

NP PP loc

PP to PP about
NP PP for PP with

VERBS
Jady)
arrive, die
cut, prove
be, become
dash, talk
hand, give
hand, give
put, place
talk, speak
open, fix

2. Complements of other lexical categories

Jadll JaSd ABY e 34l

EXAMPLE

JEa)

The rabbit vanished

The professor proved the theorem
The man became very angry

John talked to his daughter

She handed the man a map

She gave the map to the man

He put the book on the table

| talked to the doctor about Sue
He opened the door for Andy with a knife

Complementation is not a property of verbs alone. Other lexical categories, namely nouns, adjectives and

prepositions, also subcategorize for specific complements.

G AY) daara clid e EDlaSa 2

aane OO Lo i ot Liadl ¢ all Cag jag ccilacall celan) Jie 5 )AY) duanaal) bl laas 5 Jaddl Lala ul LS

COMPLEMENT OPTION
Jasall L)

(O}

PP of

PP of PP to

PP with PP about

COMPLEMENT OPTION
Jagal) LAl

(0]

PP about

PP to

PP of

COMPLEMENT OPTION
Jagal) LAl

()

NP

PP

NOUNS

slau)

car, boy

memory, failure
presentation, donation
argument, discussion

ADIJECTIVES
Sldall

tall, green, smart
curious, glad
apparent, obvious
fond, tired

PREPOSITIONS
A diga
away, down
in, on, near
down , up, out

EXAMPLE

Sl

The car is new

The memory of a friend

The presentation of a medal to the winner
an argument with Stella about politics

EXAMPLE

JEal)

He is very tall

| am curious about China
It is obvious to the teacher
She is fond of chocolate

EXAMPLE

JE

He walked away

on the table

down into the cellar

Subcategorisation, also referred to as C (onstituent)-selection, ensures that only the right complement type is
entered into the tree structure. This information is stored in the Lexicon.

Ay B allay) by (o) s g sl JuSall g g5 O G s JERY) - (o) paiall) C o) Dl WS ol Caiatl)

L”;JLA’J\ a0
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3. Complement clauses
Clauses, which are larger units than phrases, can also function as complements:

The psychic knows [that / whether / if the contestant will win]
The bracketed phrase in (6) is called a complement clause while the larger constituent is called matrix clause.
that / whether / if are called complementisers (Cs). Their role is to introduce (head) complement clauses,
thus forming Complement Clauses which are represented as Syntactic Complement Phrases (CPs).

dlagall Jaall 3
1 eSS s of Ll Sy el sl (o ST clan s 4 cJaall
‘ ‘ [ s (dilesial) LS 13/ / La / ) | <o yms paniall
b ghime Alan SV anlil]l peaiall ens Leiy AlaSe Alea (B) (A e s® O Bokial) 038 auii
b e ) AL Jaa JSi L 5 ALl Jaal) (ol ) pdi 8 s 550 (Cs) clpbalS ansi // / La /)
(CPs) 45 ddaSa Jaa

(8) ... \4
/ 0\
\) cp
knows |
c IP
/ / \
/ NP Y
C /\ I \
(that / whether / if) Det N | Vv

the contestant will win

Verbs taking CP complements
There are different types of verbs taking complement clauses. Some of these are given below:

(9) a. They believe that Eric left. [v, CP]
b. They told Mary that Eric left [v, NP CP]
c. They admitted to Mary that Eric left. [v, PP CP]

Alage @)l aa Al ) JladY)
leany b Lad s ALK Jaa qe 5 3 JladY) (e Ailida g ) 53l llin

[ Masa 3 e «Jad | eyl o st (9)
[Aaijbe  dpabe i ] e ol 18
[ Aasa 3 ile 3900 B ke «J2d ] e i ol gl )5 i

THERE IS NO LIMIT ON THE NUMBER OF EMBEDDED CLAUSES THAT CAN OCCUR IN A SENTENCE, as
exemplified in (10) below:

EXAMPLE: A man thought {that a woman said [that Sue reported (that Mary believed ........ )N}

At the level of competence, a sentence can be infinitely long. This is accounted for in our grammar by the
recursive nature of the X’ schema. This is made possible by the fact that the same rule schema is used with
the all the constituent types.

olial (10) 3 e aan LS cAlaadl (B gl () ¢Sy (AN Jaad) 300 s il an i (pund

, ([ ied i pa ) ST g O] llE 5 el O} s s 1l

hhial) (ya 8 ySiall Aagadall (88 5 Lial Zalll el 8 8 oda oludial aly 3 g9aa Db Al sk (5S35 () Aleadl (S ¢ 3 US (e (5 ssa o
Al aalial) g1 5 aaen ge Jaladial) o silE G olafin) o o Alis DA (e Tas 138 sl 285 X

gl o) Page 33



Other categories with CP complements
As the examples below show, a CP may serve as a complement fora N, A, or a P.
Alagal) @) jlaad) pa AU AN o AY) clidl)
oG e ¢ AL Lliey (5585 8 ALl jlaadl coliaf ABeY) A g yra A LS

a. CP complement of N b. CP complement of A C. CP complement of P
NP AP PP
| I |
N'_ A'__ P__
I \ I\ I\
N° cpP A° cp p° cp
Proof  that Eric left certain that Eric left (talk) about whether Eric left

It is easy to see, at least for nouns and adjectives, that the complement clause attested with the verb form is
also attested with the noun and adjective forms. We thus have:
Adall g and) OIS dana Lagl 5555 Jadll U5 s o8 ALl Alaall (o cclaall 5 elandl) 3 BBV e sy o el (0
Ll b

Prove ascertain
\ that the theorem is false \ that the theorem is false
Proof / certain /
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Lecture 9
TRANSFORMATIONS (1) <Y gail)

1. Deep and Surface Structure

The grammar that we have developed so far consists of a LEXICON and a set of Phrase Structure Rules (PSRs)
constrained by the X’-schema . The combined work of these two components generates simple structures, be
they phrases or clauses of a varying degree of complexity. The central element in a phrase is the HEAD, an X2,
while all its dependents (Complement, Modifier, or Specifier) are XPs.

dnhad) 5 dsand) ) .1

bl Lae Jaall "X Jaladiay 31584 (PSRs) kad) JS8 281 68 (1 e gana g para (o (SH OV in W g shaty Liad ) Aall) se ) 68
XO g5 ¢ 1 a5 jladl g S pall puatell | ael) (e 5 glite Cila 2y )i )l jle CilS o g ddana JSL A gy eainll
XPs a (2anall 5l ) (JaSall ) Ledle Cllaall aan Of s (B

However, these components cannot account for variation in linguistic structure as represented by the
following examples in a straightforward way:

(1) a. The Inspector will come tomorrow. Declarative

b. Will the Inspector come tomorrow? Yes-No Interrogative
(2) a. John bought a car Declarative

b. WHAT did John buy ? WH-Interrogative
(3) a. John ate an apple Active

b. An apple was eaten by John Passive

13 bl Ay T ALY 8 LS Ay galll Al b CSERY) e e (3585 Of A1 ualial 3] (%1 Y el e

o N il o (1)

Yoard  Analgdia IS it PN g EW P
dag pat 3ok s g8 (2)

WH  Asalgding ¢ O a1k e
(e Aalall s U9 (3)

Jogaall e S0n Ji e dalal) e G

Native speakers of English ‘know’, tacitly of course, that these sentences are both syntactically and
semantically related, although they all express different modes of communication. This relatedness cannot be
accounted for if we rely on the Lexicon and PSRs alone. At best, these two components will treat them as
unrelated structures and thus will fail to capture the fact that the sentences in (b) are DERIVED from the

sentences in (a).

L..,m.;f@jme;)\_;; Alall ey WY 5 Gt ol g an e Jaall oda ‘dg\@@w"'uﬁﬂ"gﬁy\wg@u\
Gual b aas s (PSRS) solall U8 aol 8 5 anae o aaiad US 1Y) La iad o Aliall o3¢d Sy YV JladY) Jilus 5 Caltidiay (55 yumy
(e Badinsa (b) & Jaall O Al aa sl Qb Ul g (ann Led 483 Y S Ll o) LaS aglalas g 0y poaaial) (i <l saY)

(a) & Jaal)
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HYPOTHESIS: The sentences in (b) are derived from the ones in (a) by movement.

The (a) sentences are generated directly by the Lexicon and the PSRs. They represent a level of linguistic
representation called DEEP STUCTURE while the (b) sentences represent a level of linguistic representation
called SURFACE STRUCTURE. The two levels of linguistic representation are mediated by a set of rules called
TRANSFORMATIONS. The work of the Transformational Component is at the centre of the Computational

System in the Grammar.

At A (e (0) 525 sall dli e (B) 8 Jenl e sdaca i)

Laiy Alran) 48 o i (5 sll) Jiadll (e (5 sine i o8 5 PSRs 3kall (S 2o s 5 anaall J (e 3 pilie W 5LE3) a1 (3) (2 Jeal)
onii 22 ll (e de gana (g salll JEa e G sial) (pda das i Apadacd) ) e (g pall) Qi) (5 sine 0 e (b) Jia
Jalll ac) @ 3 o gulall GUail) 38 pe 3 o Al sl Al) jualiall Jee ¥ gal

We will further assume that there are 2 types of movement:

= X2 movement (movement of a head)
= XP movement (movement of a phrase)

2. Transformations

2.1. Head movement: YES/NO Inversion or | -to- C

oYl 2

The sentences in (1) above, reproduced below in (4) instantiate the operation of head or X2 movement. The

structure of (4a) is given in (5a).

S — ) - Jsad gl b Wfand poul ) el jas 1.2

(58) &b slans (4a) dis . X Sliyad 5 (I Jiati e (8) b ool Adiin eoe (1) 8 Juol

(4) a. The doctor will come tomorrow.
b. Will the doctor come tomorrow?

(5) a. IP_

/ \
NP ’_
The doctor / \

12 VP

WILL come tomorrow
We apply the transformational rule
Jasail) (gild gkl

We derive the S(urface) Structure:

dahud) AL adicd

(5) b. IP__
/ \
NP I’
/! \
e VP
WILL The docctor ----- come tomorrow
N /

Vaprd  Asalgdivg flac

Declarative
Yes-No Interrogative

day e S gl s i (4)
oA gl da L

- D(eep) Structure  iws 4

- Yes/no Inversion
Vjpai b

- S(urface) Structure  4akaud) 4yl
- Y/N inversion Vs b

By Yes/No Inversion we front the auxiliary WILL in | to a pre subject position.
& sasall U8 a8 ge N oy puaill 3 WILL o busall Jadll alal ) W/azs alf 3l 5

L”;JLA’J\ a0
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The transformational analysis has two advantages :
= We do not have to say that there are two types of Aux in English, one that occurs before the verb and
one after it.
= Relatedness of the Declarative/Interrogative is also captured by the movement analysis.
1 0e 4 Lysatl) Julatl
x5 AN 5 Jadll J8 aa g5 W laa ¢ jalas¥) Aadll L sac L) JladY) Jae e (e siellia o J o ey Y m
oSl il A (o L Lo gt (0 TaalgitasY fAgmy ol ALl
One question remains, however: Where does the Aux element move?
Recall from the previous lecture that phrase structure rules are recursive in nature. This means that it is
possible to assume that every independent clause is in fact the complement of a verb of
SAYING/BELIEVING/THINKING, etc. Thus, we will assume that sentence (4a) is complement to a silent verb
such as in (6):
(6) a. | SAY: the doctor will come tomorrow

a0 lasal) Jadl) puaie & aky el (A 1ol sa 5 ¢ a5 s B
o e dlea IS ) Loyt o Saall (e il iny 138 5 Axgalall 85 ) e o8 5 laad) A 2o ) 8 () AL 5 jualaall (e SN
1(6) o Il 58 LS e Judl AaSa o (4a) Aaall Of (i i Liild ¢ 138 5 &l ¢ ST/ (GanaiJ 68 Jadl AL o) 5l
e il g kel S 8 2 (6)

Syntactically, (6a) has the structure in (6b):
:(6b) st IS e (Ba) <L

(6) b. v___
/ \
2 cp
(SAY) / \
cl
/ \
/ P___
/ / \
/ NP r_
C /\
12 VP
WILL  The inspector come tomorrow

(N I
The relatedness of 6a and 6b is maintained through the fact that the movement of | leaves behind a trace,
thus forming a movement chain. Thus, | moves to C, ONLY when the latter is empty.
iy puail) (138 5 el ) Al JuSis L ¢ A W) )5 @l yi Jsail) 4S a of dids JDA (10 BB 5 AB 8 dlall e Llaall oy
£ AV IR 5 S Levie T JaSall ) iy

A simple test for this analysis is provided by the contrast in (7):

(7) a. | wonder IF/WHETHER [ the doctor will come tomorrow ]
IP
b.* lIwonder IF/WHETHER WILL [ the Inspector come tomorrow ]
(N X I

I —to-C is blocked
1(7) & ol A olana Jalaill 13 Adagusy 4, ya
[T il Gosn canlall | o1 sm)d) Jelasil a (7)
[l b ) ] cige o) /13 Jelusl *
[ x__ 1
e Jalalle -y pail)
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The verb WONDER subcategorises for a CP complement. Thus, the C position is filled by either IF or WHETHER.
When | to C applies, the Aux WILL moves to the position that is already filled by IF or WHETHER. A
Complementiser and an Aux cannot occupy the same position. This explains the ungrammaticality of (7b).
Conversely, if the Comp position is empty, | -to — C movement is possible as shown in (8):
(8) 1 wonder: will the Inspector come tomorrow
Cay ol &y jad Gl Ladie o) g 13y Lal 4818 Slay Y] jucinll o g 13S0 5 JeSll 3 jlue ALl Lo 8 Caiian Jlaat] Jadl)
8 sl s Bliny o Sy Y ae bl Jadll 5 JeSall 8] g sl 13 Slal ¢ slas pua sall () iy g e losall Jadll ()6 ¢ JuSall )
(7b) e Aae) ) sy La 128
1(8) o e st LS Ui () uainl) ol pa U Pl ¢ b Sl gsa IS 1Y) ¢ uSall e
12 i Giidall Ja 1deludl (8)
EXERCISES: How does YES/NO inversion account for:
* played the boys football yesterday?
Did the boys play football yesterday?
A iad Q8 Y/azs ol r oyl
§ el a2l 5 S 2V V) Cal ¥
€ el 228l 5 S ) 0ad 2V Y1 Ja
2.2. XP_ movement: Move WH to SPEC CP

Another instance of a movement rule is provided by so-called Wh-movement. This illustrated by example (2)
above reproduced by below in (9):

(9) a. John bought a car Declarative
b. WHAT did John buy ? WH-Interrogative

AlaSa 5 e dina ) Jlsdl Jii X B e a8 ,2.2
1(9) 8 obial Jiall U8 (e ddusiivnn odlef (2) Jiall b ety 138 J gl A8 ja o e JOA @l il 520 (e AT i
(Pl 3ok O ) a (9)
(;Al.q.iln.u\ g ¢ O sl Dl b
The Wh word in (9b) substitutes for the complement of the verb BUY in (8a). The Deep structure for 8b should
be asin (10):

£ (10) & & LS 8b Al Al o 5S5 () iy (8a) (B (sl il ALeSal ALy (9b) A 13 A

(10) John did buy WHAT?
f3le (5 yid) J28 (52 (10)
To derive the S-tructure (9b), we need to apply two transformations, namely:

TRANS 1: Subject Aux Inversion =========9 did John buy WHAT?
TRANS 2: WH-movement =============9 WHAT did John ----- buy ----- ?
T T | |

b (O Gt ) Aalag (a3 (9b) dunand) Al 3y

£13a AN a8 ?le CE======== Qi - aeli Jab - ¢ 9 5 :d;‘y\ J gl
¢ AN O ?@ Jala €E========d¢l )aill - d\y G.\Lﬂ\ J gl
| | ™1
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We know from the previous subsection that the Aux element moves to C. We also saw that it was an instance
of X2 movement. How about the Wh-word? Where does it move?
Let us assume that the Wh word moves to [SPEC, CP]. We thus have the following tree structure for (9b):

) € Aalginy) AN e 13l XO el atl Jie oS aif Ladf Wi )5 JaSa ) Jii aolusall Jadl) jeaie i 3l adaiall (g Lid jo
¢ Jain oyl
£ (9b) I A 5 el Ay Lgal Jllyy [AleSa s sle caaa] ) Ja Aalgiin) Al (o i i Lige

(12). vV
/ \
e CcP____
(SAY) / \
/ c
/ / \
/ / P___
/ / / \
/ / NP r__
/ / / \
/ C / VP
/ 12
WHAT did John t buy t
T T I I

In this lecture, we have introduced and illustrated the working of the Transformational component of the
Grammar.
= Transformations are needed to account for structures that involve the displacement/movement of
some constituent
=  Two types of transformations have been illustrated: X2 movement in the case of Yes/No questions and
XP movement in the case of WH-movement.

_M\m\ﬁ@&)ﬂ\gﬂ\w&j}&ﬁsBFM\a&‘;&.
Al pualial) (mey 3S 55 fAal ) e g skt ) Al Gl @ gatl) zliag w
cnbeinl) Jhpad) @l s Alla 8 XP el jad 5 V/aes Aliad Alls 8 XO ¢l o rciaiay Al OV sl (e ple il m
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Lecture 10

V-movement to |
Consider the following contrasts. Can they be explained in terms of the availability of V-to-l in French in
general and only exceptionally in English:

(1) a. Paul travaille toujours.
b. *Paul works always

(2) a. *Paul toujours travaille
b. Paul always works
iy patill Jadl) &y o
AR Lad 30l 5 ) a5 oo JS At il AL g jeat - ) -Jadll Gl jad 15 Can e S O Sl I ol ) e
A sy
Observations: English and French contrast significantly with respect to the relative word order of V and Adv in
a simple sentence.
In English the Adv MUST precede the verb, while in French it MUST follow it.
Adngeal) Aleal 8 Jladl 5 Jadlly & gum sl CHLAISH (i iy (3laty Lo S JSi8 Aliie Tpual) 2211 5 & Syl 2211 sciliadlal
) Any O oy Ao il Lty il Gy o oy Jlad) 2l 4311 b

Hypothesis: V-to-l applies in French, but not in English. The existence of such a head movement
transformation explains the contrasts (1 & 2)

osl ol elyaty sl 138 Jie 2 ga s o) Ao Gl e Gl oS0 s @l 42l e Gulaty Cay g - ) -l oy e A A
(2 51) & Ll sy

Evidence:
Arg 1. Both English and French have I-to-C in Yes/No questions, but only French has V-to-I followed by V+I-
to-C. Consider the following:
ool il ol 5 U g il i () ¥/ Alicad 3 S =) my e A8y Led gl 5 o Sala) AR 0pn O 1 ALY
b e Jlie W) e 38U JaSa =) -y el g Jadl) eyt Ll iy s

(3) a. As Jtu essaye] ? l-to-C F

b. have [you tried] ? I-to-C E

(4) a. Vois [-tu [ le livre]] ? V-to-l-to-C F
IP VP

b. *See [-you [ the book ]] ? *V-to-l-to-C E

In (3) Inflection has moved to C in both languages giving rise to well-formed Yes/No questions. In (4a) the verb
in V seems to have moved to | then to Cin French, while in English it cannot do so. This confirms the
hypothesis above.
A )V (8 Jaill G s (4a) B s IS Aiie Wamd Al ) (50l Laa lall) (g JS (8 JaSa ) iy puil) Ji) (3) (b
ode Ao i) K55 138 5 lld Jad ol Y &y sulaiy) ARN 3 Laiy cdpusi Hal) ARU0 JeSal) ) o5 iy pul
Arg 2. English has exceptional V-to-l with BE used as main verb in ex. Such as:
i Bl 3 i) DS a5 50 (Jnd an iy e =) -l e s Ll Lepad &y 3la5y)
(5) a. Jonathan is always ontime c. Jonathan is [always e ontime]
b. Jonathan always is ontime VP
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V-to-l has applied in (5a) but not in (5b). BE in this example has a dual status: it is a main verb but at the same
time it has the morphological properties of an AUX, ie an I. It is syntactically visible only when it surfaces in [;
and not under V if it does not move as in (5b).

s (A S5 () 28 g 1Aa 3 5e Alls lia JEA 38 3 (Sb) (8 o 815 (5a) & iy ol = ) -Jadl) ey ol & il B
YOS I3V ae Gl sty puaill 8 Ladan o o) Lavie T Uyt 5 e 43) iy poadll (g caclisall Jadll 438 poai (ailiad 4300 i 5l
.(5b) & LS &ty
Arg 3. If our analysis of (5) is correct, we predict the grammaticality of (6).
(6) Al ael 8 e Blk) Lt (a8 raaaa (5) A Llilas 1S 13
(6) Is [lonathan e [always e ontime]]
) |_vP I

The grammaticality of (6) cannot be explained unless we assume that BE has moved exactly like lexical verbs
do in French; i.e. over the adverb in [Spec,VP]. (See 1&2 above)
0 8 anall JladY) Jadi Le Jie Japally o) ja3 40 55l Jud (55 of L yidl 13) V) oy (Sa0 Y (6)) Aalll ae ) 8 e (3ualal
(oDl 2 51 Lhil) [Aabedl) dlead) caanall | 8 Jal) e gl g )
Structural ambiguity
Some sentences are structurally ambiguous in that the meanings of their component words can be
combined in more than one way. For ex:

(e a5 Ak e SH Loty Lad paad) (S Ll & oSall el a6 Tl aiile Jaal) iany (ASgl) ()
Wealthy men and women

The phrase in (2) can be interpreted in 2 ways:
a) wealthy (men & women) or b) (wealthy men) and women

£l eludy Jay
(s )s sl (b 8 sldi(plais ) (a 1ok s (Sa (2) o 5kl

These two readings are matched by 2 different syntactic structures:
A EON| \QLUA_'\S\ Q\_Hs‘ﬂ\ U‘“U:"‘j‘ Q\;\)ﬁ\ 3T d.:\s,g

(3) a) NP b) NP
| / \ \
N' NP  Conj NP
/ \ / \ I |
AP N' AP N' and N
| | wealthy | women
A N N
wealthy / |\ men

men & Women

(3a) refers to all wealthy men and wealthy women while (3b) refers to wealthy men and women in general.

The latter are not wealthy.
Sl A1 G a5 5891 le IS oLl s Jla sl G e (3b) Lei ol A1 slasll s o 30 Ola i) s U s (3a)

Conclusion In this lecture we have:
= |-to-C exists in both French and English.
= V-movement to | exists in French, which fact explains the existence of V-to-l-to-C in this language.
= V-movement to | does not exist in English, which fact explains why English does not have V-to-I-to-C.
Lgal 5 pualaall oda 3 LadAd)
A a5 B ) (Il 3 g ge JaSa ) g el AT
ARl o3 8 JaSa ) el ) Jadl) Gl ad 3 smp Fidin ks Lo s g cpi ) ARUL 3 pn g iyl ) Judl) Gy a3
AL JaSa ) iyt ) Jal) i ad 2sm ade R ey Le b 5 kSl ) Al g e e g ) Judl) Sy a3
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Lecture 11

Thematic Roles
Another aspect of semantic interpretation at sentence level involves the roles NPs play in the situations that
they describe. Consider:

(1) The company sent the salmon from Muscat to Sohar.

de g sal )oY
ol Lk ) Ledghomy 1 YA (6 ] el ol cand e 5 s Alanl) 5 siane o (VA unil) (50 AT il
e ) bl Ga G gadd) 4l cda (1)
It would be impossible to understand this sentence if we could not identify the company as the sender,
salmon as the sendee, etc. The term thematic role (theta role, 0-role) is used to describe the part played by a
particular element in an event. Some of the most used thematic roles are given in (6) below:

= s sall sl D ) Loy e gma oS (5 sabuad) lans s ¢ Juo yaS RS8N e Capnill (g S ol 1) Alaall 038 agh daninsall () sSm

53 (6)

Thematic roles:

AGENT: The entity that performs an action.

THEME: The entity undergoing an action or a movement.
SOURCE: The starting point for a movement.

GOAL: The end point of an action or a movement.
LOCATION: The place where an action occurs.

i pagall ) 5!

il 3y 3 LS 2 Je )

ASpa ol Le Jadl palall L) 1y Jgrial)
Le 48 5al (503 Al 1 jdaal)

AS a5l Le Jadl Al ddas sdagh)

Wl Gy 3 (ISl 128 gal)

In sentence (1) above the following thematic assigned:
(2) The company sent the salmon from Dammam to Riyadh.
AGENT THEME SOURCE GOAL

(3) Terry gave the keys to Mary.
AGENT THEME GOAL

(4) The magician changed the ball into a rabbit.
AGENT THEME GOAL
il e g sall Gl o3ke (1) Al 8
2L A pladl) e Geadad) A pdl) cba gl (2)
cisgll Jdaadl 4 Jgrdall Jeldl

e A piliad) alus 5 47 (3)
cisgll A Jgdall  Jeldl)
el A LS aladl S (4)
cisgll 4y Jgrdall Jeldl)
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Thematic Role Assignment
=  Where do thematic roles come from?

= How does the grammar ensure that the appropriate thematic role is associated with each NP in a
sentence?

eyl jodll G
Lo dlan (8 dpand 3l S pa (i A uliall o g gall sl (i Of 2ol il (Say CaS m

Thematic roles originate in word meaning
The meaning of the verb/predicate is central in determining the particular 6-roles that must be assigned in a
sentence. For instance, the meaning of HIT calls for the 0-roles AGENT (doer) and the THEME (doee).
However, the other categories can also determine other roles that are assigned in a sentence.
In (3) above, the prepositions FROM and TO are respectively responsible for the SOURCE and GOAL role
assigned to Dammam and Riyadh.
Al e B Lak Lo pagall ) 5aY)
0 -\ sV Y se s HIT sine bl Qs o Alaall & (pand () o G Aina B - ) 5ol and (538 50 40 Jsniall/dadll ina
Alaall 8 Lt oy ) 5 A1 )51 aans Lol a1 cliall (€ ¢ Glld a5 (doee) 42 Jgadall 5 (doer) Jell
Gl ) 5 pladl) ) b3l Ciagll 5 saaaal) sl s e Agae A 5 e sall G wdlel (3) LB

Generally, 0-roles originate in the Lexicon as part of the semantic information associated with particular
heads. Here are some examples:
ALY (s Ui g Alime (a9 e Adad yall A0Vl il sleall (o ¢ 3aS anra & L5550 -l 50Y) Lo sac
(5) The thematic roles of some words are suggested by their meanings.

Lesilan J8 (g i LSl (anil e gumgall ) 52Y) (6)

HIT <AGENT,THEME> TO <GOAL> NEAR <LOCATION>
Jell) ¢ 4y Jgrial) Casgl) i sall
WALK <AGENT > FROM <SOURCE>
Jedl il

0-roles are assigned to NPs based on their syntactic structure, with each NP receiving ONE and ONLY ONE
0-roles.

i saa) 5 0 - ) 5ol Al Al 3 le JS pe sl Leiy el e daanY) @l jlall @ - ) sl (e Sy
The verb assigns two 0-roles, one directly to the complement and one indirectly via the VP to its subject
because the verb is not syntactically a sister of the NP subject.
gat Gl Jadll (Y A guin sl Aladll 3 lad) G sla (e 3 p8le e 3aal g5 JaSall () 5 pilaa 3aal 5 ¢ =) 531 (e (s Osna Jadll
Aaan¥) 3 jlall & gumgal dl

(7) Terry gave thekeys to Mary.
<AG,TH> <GOAL>

1 /'\ (I W
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Deep Structure and Thematic Roles
Does an NP receive its 0-role in its D-Structure position or in its S-Structure position?

Lo guagall ) ga¥) g Alsant) A
Sl Ly 8 ol diaall Wiy 80 - 50 4w 3Ll Juans o

Consider the following example in which wh-movement has applied:

“WH -3 all ciinla 38 (53l Ul JEall ) el
(8) What should the man bring e ?

The Theme role is clearly assigned to the position occupied by the trace of the wh-word. The
D-Structure position is the one subcategorized for by the verb and is therefore the one that receives the
relevant 6-role. Also, the D-Structure position determines the nature of the 6-role. We can thus state the
following:

Jadll Lo 8 Tas) 5 lyiat Canat Ageal) L) aBga ) pud) AalS (33 pha (0 Adiidis o M) (i gall ridal g JSy 4y Jgrial) ) g9 (a3
(b e U8 LiSay @lldy a5 @ - g9 Aapd d3ay Apand) A5 adga (b L Alual) 03 @ - 90 (AL S3I se8 Ul

An NP’s D-Structure position determines its 0-role.
This statement lends further support to the fact that there are two types of roles PSRs to generate deep
structures and TRs which convert them into surface structures.
10 L2599 dany dnana) 3 Ll Alsanl) Auial) a8 5
(Aeligaill ao) gall) TRs 5 ABrand) ) Al ga (5 kadl JSa 301 68) PSRs Ll 5ol (1e (e 55 llin of diad acall (e Ty Je s Gl 13a
Agadi ) Wlisad aly o)
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Lecture 12

Case in syntax
Case is a noun inflection by means of which grammatical relations such as SUBJECT, OBJECT, Prepositional
OBLIQUE, DATIVE etc. are signaled. English does not mark Case overtly. However, Standard Arabic is
interesting in this respect because it has OVERT Case, marked at the end of a noun as shown in the following
example:
Uaal) ol b Aal) puag
Bl « s i) < gl Ak sl gy griall o gua sall Jha oy sadl) B (3o (8 pd oy o 4 Al g
A ol Ayl Bl ld way e JE AR puny cpnd Y A alad) Aall) 3 L) LIS A3 LY Ly quadl) Jla B dadl g
) JUall 3 ean ge 5 LaS an) Algd (B Siaig o Ale Lgual Alla auda g LY aaiall 13 6 Slaia D 5 i
Akala 9omar-u  t-tuffaahat-a  fi I-maktab- i ial) 6 daldil] ae ST
Ate Omar-nom apple-acc in the-office-gen
'Omar ate the apple in the office. *

SUBJECT Case is Nominative, OBJECT Case is Accusative, and Prep Object Case is Genitive (in Arabic).
(Rl 500) Cilzaa o goaal) Ala aua gy ¢ cuaill ga 43 Jgrdall Al plagg (ad ) A £ gagall Aa g2
Assume the following Case relation:
NOM is assigned by + TENSE
ACCU is assigned by V
OBL is assigned by P ( in Arabic, P assigns GEN)
AN A aa g A8 sl
Jadll diua 330k e @l Gl oy
dadl) 5y Hb e qualll et o
Al dia di e gl e ol
Case Filter: All NPs must have Case
Ala g 058 o s et @l jlad) JS ALY Al g Blias

NP movement (l): Passive
Consider the following two examples:
(7) The police arrested the thief
AGENT THEME

(8) The thief was arrested [e] (by the police)

THEME AGENT
(9) was arrested the thief (by the police) D-Structure
Jogaall e tdoan) B bl dly o
ol i) )kl
vall e cuad  dbd (7)
4 Jsadal) Jelal)
(sdll 35 ) [e] all e (=g (8)
Jeldl) A Jerdall
Apaad) L) (Abdll S (0) alll o il a0 (9)
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How come that the Agent role of (2) is not assigned by the verb in (3)?
=  Assume that the passive morphology ‘weakens’ the verb by making it incapable of assigning accusative
Case to its object, hence the need for it to receive Case in the vacant subject position from |.
= Assume that the passive verb also loses its capacity to assign the subject 8-role. The subject position is
therefore non-thematic in (9). Interestingly, NP movement is a transformation which creates a CHAIN,
whose head is a Case position and a non-thematic one and its TAIL/Root position is a non-Case
position but a thematic one.
?(3) b Jnll U8 (n And s o (2) (B Joldll o o sy s
QM\QQQ}‘@:}A}AM\MIAM&BJM}nga;dm‘;mdxﬂ\ " Camia)" d}e.ﬁj\i@adﬂsoi e om
Ad pall (a3 ,elh g s sall @8 ga A QYA JLELLY Sl
E sz pb b g gnsall Ciga b ULy sl -0 g s e et e 45,08 i) Lol seaall aal) Jadll o i il
S S s b g Al Cibga ga Al A5 Abea (318 o1 Joail) b dpaal) dyad O calaiad il e L (9)
(& g0 Ay Alal) e ge g Led S0l i s
An NP Chain: (NP, e)
[+Case,-0] [-Case,+0]

NP movement (I1): Raising
Similarly, RAISING Predicates are sanctioned by the same Chain conditions given above for the Passive.
Raising Predicates are predicates such as: SEEM, APPEAR, BE LIKELY, BE CERTAIN, etc. Consider the following:
2ol el § sl &Ly
sl isall s3e 5 5583l Alesdad) g s ok I a0 A e 43 J bl @B (Jé <l
A il 3 il S ) Ly oGl o G880 O gza ) e i ¢ gt e g Jsnia o 4 O gniall @b
(10) a. Itseems [Johnis happy today ]
b. John seems|[.... tobe happy ]

(10 a and b) are synonymous, but they differ syntactically in that the first one has a finite, [+ Tense]
complement clause whereas the second one has a non-finite, a [- Tense] complement clause. Thematically,
the verb SEEM s-selects a THEME complement clause and a non-thematic subject.
Led A6 Of Ca (A [dadll dapa] o0 sane AleSa 5 e L) (Y1 () ‘;uﬁ)ﬂ\ Cus (e alins Ll Byl 1o A (10 @ and b)
S nE g shge 54 Jerdall daSe ay JlA -5 ) seall gay Jadll b pnge | [Urd dana je (] B350ma e AleSas e

The derivation of 10b) is as follows:

5) John seems to be happy Lew g Of 9
DS: --—---- +T seems [ John -T to be happy ]
[ + Case, -0 ] [ - Case, +0 ]
Move NP = S-S: Johnx +Tseems [ ex to be happy ]
T I
CONCLUSION

In this lecture, we have seen that :
= The thematic status of a syntactic position interacts in a significant way with syntactic processes such
as Passive and Raising.
= NP movement is obligatory for Case reasons (Case Filter). It moves an NP from a thematic and Caseless
position to a non-thematic and Case marked position (NP Chain).
dadal)
ol Wl 6l oda 8
2l s J sl sl Jio i saill cllaall e € OS5 Jelily (5 a0 gipal o sunsall gl m

i ga ) S sy oo g ge a8 5a e ApanY) 5Ll @ an 585 (Rbea Alla) Ala) Gl Al Lan¥) 3 kal) iy 23w
(s 5Ll L) Al 5 o pumse e Japale
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Lecture 13
MORPHOLOGY EXERCISES

EXERCISE 1: Say whether the following words are related by inflection (1) or Derivation (D)
a. go, goes going, gone.
b. Lovely, lovelier, loveliest
c. Discover, discovery, discoverer, discoverable, discoverability
d. Inventor, inventor's, inventors, inventors'

EXERCISE 2: For each word below, indicate whether the word is morphologically simple (S) or Complex (C),
includes an inflectional affix (1A), or includes a derivational affix (DA).

a. Reader S C 1A DA
b. Redder S C 1A DA
c. lavish S C 1A DA
d. Readiness S C 1A DA
e. Aviation S C 1A DA

EXERCISE 3: Isolate the root and the affixes in the following words.
For example: unpredictable : un+predict+able.

independently
recoverability
embellishment
unsustainability
implementability

®ao oo

EXECISE 4: Some words in (4) contain prefixes. Identify the prefixes by circling them.

a. unable

b. discourage
c. establish
d
e

receive
strawberry
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EXERCISE 5: Circle the correct answer in the following multiple choice questions:

(1) The study of word structure is done in
a. Phonology

b. Syntax

c. Phonetics

d. Morphology

(2) The association between the sound of a word and its meanings is purely ..............
a. Controversial
b. Conditional
c. Central

d. Conventional

(3) Suppletion occurs when a lexeme is represented by two or more .................. roots.
a. Different
b. Similar

c. Bothaandb
d. None of the above

(4) When we derive one word from another, we ..................
a. Change its class, for example, from being a Verb into a Noun
b. Change its tense, for example, from being Past into Present
c. Both of the above
d. None of the above

(5) Roots are ..............
a. NOT always free
b. Always free
c. Both of the above
d. None of the above

(6) eeeeee is a morpheme that makes the most significant contribution to a word's meaning.
a. The phoneme
b. The derivational morpheme
c. The inflectional morpheme
d. Theroot
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Lecture 14
Practice

EXERCISE 1: Instructions: The sentences below are instances of structural ambiguity.
a) Give a paraphrase of two possible readings for each of them
b) Draw a tree structure for each reading.

1. The police shot the terrorists with rifles
> Reading 1: ... The police shot the terrorists HOLDING RIFLES
On this reading the PP with rifles is a modifier of the NP ‘the terrorists’
. Tree STFUCTUNE: ot e e e s
> Reading 2 : The police USED RIFLES to shoot the terrorists
On Reading 2, the PP with rifles is an in Adjunct, an instrumental Adverbial
n TrEE STIUCTUIE ..ot e e snae e

EXERCISE 2: Instructions:
a) What is the status of the underlined clauses in the examples below ?Are they complements or
Modifiers ?
b) Justify your answer.
c) Draw the tree structure of the COMPLEMENT structure of the verb BELIEVE.
A. I cannot believe the rumour [ that John has died |

B. I cannot believe the rumour [ that is circulating in our neighbourhood |

= Constituent status: that John has died is a : Complement Clause (CP)

= Justification

Arg. 1: As a complement, it completes the meaning of the head noun RUMOUR semantically. Thus, it
cannot be omitted ( deleted):

I cannot believe the rumour. ( the rumour about what ? As it stands this sentence is incomplete )
Arg. 2:If indeed this constituent is a complement clause, then we expect THAT to be a Complementiser, and
NOT a relative pronoun. Replacing THAT with WHICH should result in ungrammatical sentence, which is
indeed the case:

* I cannot believe the rumour WHICH John has died.

EXERCISE 3:Constituent status: that is circulating in our neighbourhood is a Modifier/Relative/Adjective
Clause (CP) Justification

Arg. 1: THAT is a Relative Pronoun, NOT a complementiser. It introduces a relative clause modifying the Noun
RUMOUR, the antecedent of the RP THAT. The latter originates in the subject position of the clause :
I cannot believe the rumour, the rumour is circulating
(THAT)

Arg. 2:If our hypothesis is correct, then the assumed RP pronoun CAN be replaced by another RP, namely

WHICH as shown by the following :
I cannot believe the rumour WHICH is circulating in our neighbourhood.
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EXERCISE 4. Instructions: Provide a syntactic analysis of the following sentence by:
a) assigning it a D-structure representation
b) Applying the needed transformations to generate its S-structure
c) Drawing a tree structure to represent it.
What has John claimed that he can do ?
> D-structure: [+wh] [+Q] John has claimed [that [he can do WHAT ]]
» Transformations:
Transformation 1: YES?NO Question or I-to-C
[+wh] hasJohne claimed [that [he can do WHAT]]
Transformation 2: Wh- Question
[WHAT] hasJohne claimed [e[that [hecan do e ]]
T I I

Tree Representation cp

/\
[+ WH ] c___
WHATX / \
T [+Q] IP

I hasy [/ \
| ™ NP I
I | John [/ '\
I | ey VP
I Vv’
I /\
I \" cpP
| claim / \
I ex (o4
| C IP
| that / I
| he / \
| can VP
I Vv’
| \' NP
I do ex

ngJLuJ\ a0
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EXERCISE 5: Choose the correct answer.

i R Tries to explain the unconscious knowledge that native speakers have of their own language.
. Generative grammar

. Traditional grammar

. Functional grammar

6 T 9

. Systemic grammar

. The sentences 'Smith ate a sandwich' and 'a sandwich was eaten by Smith' are
. Identical in the deep structure

. Different in the deep structure

. Identical in the surface structure

Q 6 T 9N

. Identical in deep and surface structure

. The sentence 'she drank the juice in the kitchen' has
. Two distinct deep structures

. Two identical deep structures

. Two surface structures

o 6 T 9 W

. One deep and one surface structure

. Arabic is an example of ........ languages.
. VSO
.SVO
sov
. 0VS

o0 oo &

. The syntactic head of a clause (IP) is :
\Y,

o

V+I

. C+l

o 0 oo n

6. v refers to the speakers' actual use of language in concrete situations
a. Performance

b. Competence

¢. Linguistics

d. Syntax
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